Tibro BK

TrestadsTavling 2022-03-15

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac  Par Poéang % Namn MID Klubb
1 4 148 61.67 Bo Friberg - Goéran Karlsson 68640 67573 Tibro BK
2 6 146 60.83  Olle Gustavsson - Gunnel Gustavsson 11085 11086 Tibro BK
3 10 129 53.75 Ronny Eriksson - Jonny Pahlsson 1592 1587 Hjo BS
4 7 126 52.50  Ann-Sofie Axelsson - Leif Axelsson 1818 1706 Carlsborgs BK
4 9 126 52.50 Britt-Marie Lundqvist - Eva-Lill Andersson 1588 14946 Hjo BS
6 8 124 51.67 Barbro Warnby - Séren Bjorkdahl 44105 200295 Tibro BK
7 11 120 50.00  Stig Bergman - Lennart Johansson 83562 1584 Hjo BS
8 2 115 47.92  Sven Lindell - Alice Lindell 3591 15239 Tibro BK
9 1 113 47.08  Tommie Ljungberg - Leif Bjurstréom 59949 48836 Carlsborgs BK
10 12 111 46.25  Kjell Josefsson - Hartmut Béadicker 1580 65178 Hjo BS
11 5 92 38.33 Rolf Andersson - Lars Manhem 47024 4318 Carlsborgs BK
12 3 90 37.50 Tommy Holmén - Ulla Bondesson 83556 34419 Carlsborgs BK
1 4 E985 Basta kontrakt 2 4 K876 Basta kontrakt 3 « EKD54 Basta kontrakt
Nord v 1075 3¢ OD-1100 Ost v K87 3¢ O =-110 Syd vDKn 6NT S =990
Ingen + DKn2 NS ¢+ E32 ov + D85
#865 & ¢ v & NT #1072 & ¢ v & NT #ED9 & ¢ v & NT
4Knl10632 &7 N55667 4 E109532 4 Kn N437 36 432 496 N 9 127 1212
v KD963 v 82 S556 78 vKn10 v 932 S 43736 v 10832 vK7654 S 9 127 1212
¢+ K5 ¢ 108764 078765 ¢ D987 ¢ KKn4 09 9687 ¢E763 ¢Kn4 041611
«D #EK1043 V78765 LX] #EKD986 V996387 K107 #Kn653 V41611
« KD4 aD4 4 Kn1087
v EKn4 v ED654 vE9
¢ E93 + 1065 + K1092
#Kn972 #Kn54 #842
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 11 INS= vK 90 100 0.0| 2 11 4e V-2 97 100 100 0.0 5 10 44 N+2 ¢J 480 9.0 10
5 10 34 V-1 43 50 70 3.0 9 1 3vS-1 &A -100 80 20| 6 7 44N+2 v4 480 9.0 1.0
9 1 2vV-1 5 50 70 3012 4 24V-= v7 -110 6.0 40| 9 1 3NN+2 2 460 6.0 4.0
6 7 2&V= *6 -90 40 6.0 3 8 3¢ V+l v7 -130 40 6.0 2 11 44 N+1 ¢J 450 20 80
3 8 3NS-2 v6 -100 20 80| 6 7 34V+l a5 -170 20 80| 3 8 44N+l ¢4 450 20 80
12 4 29 V+1  ¢2 -140 0.0 100 5 10 34 V+2 43 -200 0.0 100(12 4 44 N+1 9 450 20 8.0
4 48 Bésta kontrakt 5 & Kn75 Bésta kontrakt 6 & E32 Bésta kontrakt
Vast v ED952 3v N =140 Nord v 954 5¢v O D-2 300 Ost vKD 5v S =450
Alla ¢+ Kn764 NS + E93 ov + EDKn653
#DKn6 & ¢ v & NT #E852 & ¢ v & NT %102 & ¢ v & NT
4E1053 4 D974 N49 956 «ED 41084 N 4 9 3 106 410954 D76 N6 11119 7
v74 v K108 S 49856 vEKn632 v D1087 S 49 3 106 v 104 v 952 S 6 11119 7
+ K5 +D3 09 4487 +10 ¢ Kn642 0849 36 ¢10972 ¢4 070030
#E10983 #K752 V94487 #DKn1096 %43 V84936 #D93 &#EKKn654 V 7 0 0 3 0
& KKn62 & K9632 & KKn8
v Kn63 vK v EKn8763
+ E10982 + KD875 + K8
&4 *K7 *87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 2 340-2 v6 200 100 0.0 4 1 24S+2 o7 170 9.0 10| 3 11 4vy S+3 4T 510 10.0 0.0
12 5 34V-1 48 100 80 20| 7 8 34N+l ©vA 170 90 10| 4 1 4vyS+1 49 450 6.0 4.0
4 1 Pass 50 5012 5 24 S+1 &9 140 6.0 40| 6 10 4v S+1 &3 450 6.0 4.0
6 10 Pass 50 50| 9 2 5v0-2 a3 100 40 6.0|12 5 4v S+1 &3 450 6.0 4.0
7 8 4vy N-1 &2 -100 20 80| 6 10 34 S-2 #Q -200 20 80| 7 8 3NN+1 &A 430 20 80
3 11 340= *4 -140 0.0 100| 3 11 4v0O= +K -420 0.0 100 9 2 2vS+5 T 260 0.0 10.0
7 & KDKn5 Bésta kontrakt 8 4 D842 Bésta kontrakt 9 & EK1095 Bésta kontrakt
Syd v D973 3¢ V =-110 Vast v Kn63 5¢ VD -2 300 Nord v K7 24 N =110
Alla + D6 Ingen *4 ov + 1075
*E96 & ¢ v & NT #KD963 & ¢ v & NT #1074 & ¢ v & NT
a2 410986 N7 4887 4 Kn653 & E109 N 104 106 6 484 463 N555 86
vE1062 vKn4 S7 4887 v 542 vE8 S 104 106 6 vED95 vKnl042 S555 86
¢ K1073 ¢ E9842 059556 ¢ EKn73 ¢ KD1095 039377 ¢E632 +D84 087 856
D754 #Kn8 V595586 &75 #Kn82 V39377 #EK8 #DKn32 V87856
4 E743 4 K7 4 DKn72
v K85 vKD1097 v 3863
¢ Kn5 + 862 + KKn9
#K1032 #E104 965
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 11 44 S= *4 620 90 10| 9 3 4v S+l 3 450 100 0.0 7 10 2NV-3 4T 300 10.0 0.0
7 10 44 N= LN 620 90 10| 8 1 2vS+2 +A 170 70 30 9 3 24N= *Q 110 80 20
5 2 24S+1 +¢3 140 6.0 40(12 6 3vy S+l A 170 70 30| 5 2 INV= s A -90 40 6.0
9 3 3NN-1 +4 -100 40 6.0 4 11 24 V-1 v 50 40 6.0 8 1 INV= s A -90 40 6.0
8 1 3NN-2 ¢2 -200 20 80| 7 10 INO= vK -90 20 80|12 6 INV= 4 A -90 40 6.0
12 6 44 S-3 &4 -300 00 100 5 2 1aV+1l w7 -110 0.0 100( 4 11 INV+1l &K -120 0.0 10.0
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10 & EK943 Basta kontrakt 11 4842 Basta kontrakt 12 4 E102 Basta kontrakt
Ost v 62 6¢ S =1370 Syd v 9432 6NT V =-990 Vast v EDKn9 6NT N = 1440
Alla + ED82 Ingen + Kn76 NS + D97
»E8 & ¢ v & NT #E53 & ¢ v & NT D102 & ¢ v & NT
4 D76 4 Kn102 N 9 119 1110 « EKKN10 #4973 N14211 4 Kn87543 4 K9 N 8 128 6 12
vKKn8 v9754 S 9 129 1111 v EDKn v K108 S14211 v K8542 v 106 S 8 128 6 11
410974 ¢53 031322 +9 + EK82 O 129 111212 ¢- ¢ 8532 041461
#1064 #KKn52 V31322 #KD987 #Kn62 VvV 129 111212 *65 #EKn983 V41461
# 85 « D65 4 D6
vED103 v 765 v73
+ KKn6 + D10543 + EKKn1064
D973 *104 *K74
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 2 3NN+2 a2 660 100 00| 6 3 6NO-1 v7 50 100 00| 1 2 3NN+3 &8 690 80 20
6 3 44 N= +5 620 80 20| 1 2 3NO+2 T -460 80 20| 6 3 3NN+3 #8 690 80 20
5 11 3NS= &3 600 40 6.0 5 11 3NO+3 48 -490 40 6.0 9 4 3NN+3 #8 690 80 20
8 10 3NN= +5 600 40 6.0 9 4 3NO+3 w7 -490 40 6.0 8 10 BNN+2 #8 660 30 7.0
12 7 3NN= &5 600 40 6.0(12 7 3NV+3 +6 -490 40 6.0|12 7 3NN+2 43 660 30 7.0
9 4 6NS-3 &T -300 0.0 100 8 10 6NO= *4 -990 0.0 100| 5 11 3¢ S+1 46 130 0.0 10.0
13 4 K72 Basta kontrakt 14 4 Kn98 Basta kontrakt 15 » EK106 Basta kontrakt
Nord v2 3v S =140 Ost vD9 4ANT O =-430 Syd v 986532 4¢ S =130
Alla + 10765 Ingen + Kn86532 NS +8
#107652 & ¢ v & NT #Kn6 & ¢ v & NT *ED & ¢ v & NT
4 D1093 4 Kn864 N8 8 85 8 «D10 4 E763 N25653 4953 4 Kn872 N 9 108 8 7
v E53 v 876 S 88 958 v74 vE52 S35653 vKKn104 vED7 S 9 108 8 6
¢ KKn9 ¢432 04 447 4 + KD9 ¢+ E104 O 108 6 7 10 ¢ 1053 ¢ ED2 022546
#E98 #DKn3 V 44474 #E98432 #D105 vV 108 7 7 10 *K73 *642 V22546
4 E5 & K542 aD4
v KDKn1094 v KKn10863 v-
+ ED8 *7 + KKn9764
*K4 *K7 #Kn10985
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 11 2NO-4 K 400 100 0.0| 6 11 44 V-3 vQ 150 100 0.0| 6 11 24 O-4 #J 200 10.0 0.0
12 8 34 V-2 v2 200 80 20| 9 5 2vS= +Q 110 7.0 30| 7 4 34S+2 &7 150 80 20
2 3 3v S+l T 170 6.0 40(12 8 2vS= «Q 110 70 30 9 5 2¢v N+l a7 140 6.0 4.0
1 10 3v S= 43 140 30 70 7 4 3NO-2 T 100 40 6.0| 1 10 2¢90-2 #J 100 40 6.0
9 5 3vS= 43 140 30 70| 1 10 44V+3 vQ -190 20 80| 2 3 3NN-1 46 -100 20 8.0
7 4 4vS-1 43 -100 0.0 100 2 3 3NO+2 vJ -460 0.0 100(12 8 3NN-2 a2 -200 0.0 10.0
16 4105 Bésta kontrakt 17 4743 Bésta kontrakt 18 a4 Bésta kontrakt
Vast vE10763 5v N D -3-500 Nord v D86 3NT O =-400 Ost v DKn64 44 O =-420
ov + Kn Ingen + 86 NS 41042
»K8632 & ¢ v & NT #108754 & ¢ v & NT #KKn1095 & ¢ v & NT
a2 « EKD8 N6 286 3 4 KDKn5 49 N6 346 4 4E983 4D65 N54334
v KKn4 v 98 S6 286 3 vE105 v Kn432 S6 346 4 v K83 v E1052 S54334
41098732 ¢ KD54 O 6 104 6 8 +D10932 ¢ KKn54 07 109 7 9 ¢ EK965 ¢ Kn7 07 9 10109
*E107 #DKn4 vV 7 115 6 8 &E #DKn93 vV 7 109 7 9 «D #E632 vV 8 9 109 9
& Kn97643 4 E10862 4 KKn1072
v D52 v K97 v 97
¢+ E6 ¢ E7 + D83
#95 *K62 *874
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 10 3NO-4 46 400 100 0.0 8 5 2¢ V-1 3 50 100 00| 9 6 3NO-1 &8 50 10.0 0.0
7 11 56 V-1 &7 100 80 20(12 1 2v0O= ¢A -110 80 20| 8 5 2NV+2 #4 -180 80 20
8 5 2¢ O+2 49 -130 6.0 40| 3 4 2¢V+2 &4 -130 50 50| 2 10 3NO= aJ -400 6.0 4.0
12 1 INO+4 46 -210 40 6.0| 7 11 3¢ V+1 3 -130 50 50(12 1 3NO+1 &T -430 40 6.0
3 4 3NO+1 #4 -630 1.0 9.0 9 6 2¢ V+3 &4 -150 20 80| 3 4 3NV+2 &T -460 20 80
9 6 3NO+1 46 -630 10 90| 2 10 3NV= a7 -400 0.0 10.0| 7 11 14DS-4 +A -1100 0.0 10.0
19 4108543 Bésta kontrakt 20 « KD8 Bésta kontrakt 21 4105 Bésta kontrakt
Syd vE9432 44 S D -2-300 Vast v 62 64 N =1430 Nord v EDKn8543 5v N D -1-200
oV + K Alla + KD73 NS +10
#EKn & ¢ v & NT +D1084 & ¢ v & NT #KD3 & ¢ v & NT
aKKn7 492 N6 4774 4942 476 N 9 129 1211 4 E92 4KKn8743 N 3 5 102 6
vyKD105 v76 S6 4784 vKn1043 vE875 S 9 129 1211 v72 v- S 35 102 6
+ D7 ¢ EKN106543 O 7 9 6 4 9 + 84 ¢ Kn102 041411 + KD654 ¢ 32 O 107 1 105
#K1074 #32 V79649 #Kn973  #K652 V41411 #1076  #EKn954 V 107 1 105
» ED6 » EKNn1053 « D6
v Kn8 vKD9 v K1096
4982 + E965 + EKn987
#D9865 &E »82
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 6 5¢0-2 &9 200 100 00| 9 7 64 S= v] 1430 100 0.0| 3 10 5v N= +3 650 10.0 0.0
12 2 1v N= &3 80 80 20| 4 5 44 S+2 ¢8 680 70 30| 4 5 44 0= v6 -420 70 3.0
4 5 3¢ 0O+l 6 -130 6.0 40| 8 11 44 S+2 v 680 7.0 3.0(12 2 44 V= *T -420 70 3.0
3 10 3¢ O+2 8 -150 30 70 1 6 3NN+2 5 660 40 6.0| 1 6 44 O+1 8 -450 20 8.0
8 11 2NV +1 v2 -150 30 70| 3 10 54 S= &3 650 10 90| 8 11 44 O+1 ¢¥K -450 20 80
9 7 44DN-3 3 -500 0.0 100(12 2 44 N+1 8 650 10 90| 9 7 540= v6 -450 20 8.0
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22 & K432 Basta kontrakt 23 4 Kn6 Basta kontrakt 24 4 E7642 Basta kontrakt
Ost vE4 3v O =-140 Syd v EDKn1086 6¢ S =1370 Vast v 962 3v VD-1100
ov + EDKn6 Alla + KD8 Ingen + E103
K86 & ¢ v & NT »87 & ¢ v & NT &K5 L Y
a7 & EDKN95 N6 6 476 « D95 & K1087 N 5 12117 8 « KD #1053 N6 85 8
vD10752 v 986 S66 476 v K72 v94 S 5 12117 8 vEK83 v10754 S 6 858
+43 ¢ K982 O7 6 966 +54 ¢ Knl10 080060 49542 ¢ D6 07585
&ED743 #10 V76966 &#KDKn106 #E9542 V80060 &#EKN3 #10964 V7585
41086 4 E432 4 Kn98
v KKn3 v53 v DKn
+ 1075 + E97632 ¢ KKn87
#Kn952 *3 D872
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poén
5 6 INN= «Q 90 100 00| 2 7 24V-3 +K 300 90 10| 9 8 24 N= +6 110 10.0
1 11 24 N-1 &T -50 6.0 40| 4 10 3NV-3 vQ 300 90 10| 4 10 INV-1 a4 50 6.0
2 7 INN-1 aJ -50 6.0 40|12 3 1vy N+5 ¢J 230 60 40| 5 6 INV-1 a2 50 6.0
9 8 INN-1 &) -50 6.0 40| 1 11 3v N+2 &A 200 40 6.0(12 3 INV-1 a2 50 6.0
2 3 2vV= &6 -110 20 80| 5 6 1y N+3 ¢J 170 20 80| 1 11 24 N-1 vT -50 2.0
4 10 2v O+2 &8 -170 00 100| 9 8 4&V-1 K 100 00 100| 2 7 34 N-2 a3 -100 0.0
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